Calculus BC – Chapter 8 - Even Answers (F.T.D.W.)

[image: image3.wmf](

)

(

)

(

)

2

11

55

2

1

4

3

9

7

3

2

3

2

12

24

1

(1)

32

41

4

3

1

22

35

1

81616

2

43

1

1

2(1)

1

4

3

1

(1)

1

2.

4.

6.

8.

10.ln

12.7ln23ln3

14.ln2ln2ln2

16.ln2

18.8.5419

20.ln

22.ln

24.3Tan(2)

26.ln

28.

xx

x

x

xx

x

x

x

x

x

x

x

x

xx

x

tttC

C

C

xC

C

p

--

-

-

-

-+

-

+

-

+

+

-

-

-

+

-+

+

+

+

-

-

-+-+++

+-

++

+

-+

+

2

3

2

ln(1)

xx

-+

[image: image4.wmf](

)

(

)

(

)

2

()

()

2

4

1

2

1

1

2

tan

1

2

33

2

1

2

30.1

32.4ln9

34.ln3

36.(),

,

38.31

40.Tan

42.ln1tan

44.ln31

bakt

bakt

x

akt

akt

abe

bea

x

iabx

abx

C

C

p

p

-

-

+

-

-

-

-

-+

-

==

¹=

-

æö

+

ç÷

èø

++

-

Section 8.4
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